

Remarks on Sequences Generated by Harmonic Numbers

A. S. Stevanović, I. Ž. Milovanović, E. I. Milovanović

Abstract: A monotonicity of sequences generated by the harmonic numbers is proved in this paper.

Keywords: Harmonic numbers, monotony sequences, recurrent sequences.

1 Introduction

A sequence of harmonic numbers $(H_n), n \in N_0$, is defined as

$$H_n = 1 + \frac{1}{2} + \cdots + \frac{1}{n}, \quad H_0 = 0.$$

This sequence plays an important role in solving numerous problems in combinatorial mathematics as well as during analysis of complexity of numerical algorithms (see for example [1, 2, 3, 4]).

Let $(x_n), n \in N_0$ be an arbitrary sequence of real numbers. An operator of k -th difference is defined as

$$\Delta^0 x_n = x_n, \quad \Delta^1 x_n = x_{n+1} - x_n, \quad \Delta^k x_n = \Delta(\Delta^{k-1} x_n),$$

for each $k \in N_0$ and $n \in N_0$. A real sequence $(x_n), n \in N_0$, with the property $\Delta^k x_n \geq 0$, ($\Delta^k x_n \leq 0$), is said to be k -convex (i.e. k -concave). In the special cases, for $k = 0$, a sequence (x_n) is non negative (non positive), when $k = 1$ it is monotone non decreasing (non increasing), and for $k = 2$ it is convex (concave).

In this paper we are going to determine the monotonicity of two sequences generated by the harmonic numbers.

Manuscript received January 22, 2013; accepted May 14, 2013.

A. S. Stevanović is with Mechanical Technical School, 15 may, Niš, Serbia; I. Ž. Milovanović, E. I. Milovanović are with the Faculty of Electronic Engineering, Niš, Serbia

2 Main result

Lemma 1 *Let $H = (H_n), n \in N_0$, be a sequence of harmonic numbers. Then, for each $k, k \in N$, the following equality*

$$\Delta^k H_n = \frac{(-1)^{k-1}(k-1)!}{(n+1)(n+2)\cdots(n+k)} \quad (1)$$

is valid.

Proof. We will prove Lemma 1 by mathematical induction. Since

$$\Delta H_n = H_{n+1} - H_n = \frac{1}{n+1},$$

we have that equality (1) holds when $k = 1$. Now, suppose that (1) is valid for some fixed $k := k, k \in N$. In that case, for $k := k + 1$ we have

$$\begin{aligned} \Delta^{k+1} H_n &= \Delta(\Delta^k H_n) = \Delta\left(\frac{(-1)^{k-1}(k-1)!}{(n+1)(n+2)\cdots(n+k)}\right) = \\ &= \frac{(-1)^{k-1}(k-1)!}{(n+2)(n+3)\cdots(n+k+1)} - \frac{(-1)^{k-1}(k-1)!}{(n+1)(n+2)\cdots(n+k)} = \\ &= \frac{(-1)^{k-1}(k-1)!}{(n+2)(n+3)\cdots(n+k)} \left(\frac{1}{n+k+1} - \frac{1}{n+1}\right) = \\ &= \frac{(-1)^k k!}{(n+1)(n+2)\cdots(n+k+1)}. \end{aligned}$$

□

The important corollary of Lemma 1 is

Corollary 1 *For $k = 2$ and $k = 3$ the following two inequalities are valid*

$$\Delta^2 H_n = -\frac{1}{(n+1)(n+2)} < 0 \quad (2)$$

and

$$\Delta^3 H_n = \frac{2}{(n+1)(n+2)(n+3)} > 0 \quad (3)$$

for each $n \in N$.

Now, according to sequence $H = (H_n), n \in N_0$, we will define sequences $(a_n), n \in N_0$ and $(b_n), n \in N_0$, as

$$a_n = \frac{H_{n+1} - H_1}{n}, \quad a_0 \equiv 0, \quad b_n = \frac{a_{n+1} - a_1}{n}, \quad b_0 \equiv 0, \quad (4)$$

for each $n \in N_0$. The following result is valid for the sequences (a_n) and $(b_n), n \in N_0$.

Theorem 1 *The sequences (a_n) and (b_n) , $n \in N_0$, defined by (4), are monotone decreasing and increasing, respectively.*

Proof. From the inequality (2) and equality

$$\begin{aligned} \sum_{k=1}^n k\Delta^2 H_k &= \sum_{k=1}^n k \sum_{i=0}^2 (-1)^i \binom{2}{i} H_{k+2-i} = \\ &= nH_{n+2} - (n+1)H_{n+1} + H_1 + \sum_{i=0}^2 (-1)^i \binom{2}{i} \sum_{k=i+1}^{n-2+i} H_{k+2-i} = \\ &= n(H_{n+2} - H_1) - (n+1)(H_{n+1} - 1), \end{aligned}$$

we have that

$$\frac{H_{n+2} - H_1}{n+1} < \frac{H_{n+1} - H_1}{n},$$

so we conclude that the sequence (a_n) , $n \in N_0$, is monotone decreasing.

Now we will prove that sequence (b_n) , $n \in N_0$ is monotone increasing. We have that for each $n, n \geq 1$ the following equality is valid

$$\begin{aligned} \sum_{k=1}^n k\Delta^3 H_k &= \sum_{k=1}^n k \sum_{i=0}^3 (-1)^i \binom{3}{i} H_{k+3-i} = \\ &= nH_{n+3} - (2n+1)H_{n+2} + (n+1)H_{n+1} + H_2 - H_1 = \\ &= n(n+2) \frac{H_{n+3} - H_1}{n+2} - (2n+1)(n+1) \frac{H_{n+2} - H_1}{n+1} + \\ &+ n(n+1) \frac{H_{n+1} - H_1}{n} + \frac{H_2 - H_1}{1} = \\ &= n(n+2)a_{n+2} - (2n+1)(n+1)a_{n+1} + n(n+1)a_n + a_1 = \\ &= n(n+2)(a_{n+2} - a_1) - (2n+1)(n+1)(a_{n+1} - a_1) + n(n+1)(a_n - a_1). \end{aligned}$$

From the above equality and inequality (3), we have that for each $k, k \geq 1$, holds the inequality

$$k(k+2)(a_{k+2} - a_1) - (2k+1)(k+1)(a_{k+1} - a_1) + k(k+1)(a_k - a_1) > 0.$$

By summing this inequality over k we have that

$$\begin{aligned} &\sum_{k=1}^n (k(k+2)(a_{k+1} - a_1) - (2k+1)(k+1)(a_{k+1} - a_1) + k(k+1)(a_k - a_1)) = \\ &= (n+2)(n(a_{n+2} - a_1) - (n+1)(a_{n+1} - a_1)) > 0, \end{aligned}$$

i.e.

$$b_{n+1} = \frac{a_{n+2} - a_1}{n+1} > \frac{a_{n+1} - a_1}{n} = b_n.$$

□.

3 Conclusion

We have defined two real sequences (a_n) and (b_n) based on the harmonic numbers. We have proved that sequence (a_n) is monotone decreasing, while (b_n) is monotone increasing.

Acknowledgement

This work was supported by the Serbian Ministry of Education and Science, Project No TR 32012.

References

- [1] R. L. GRAHAM, D. E. KNUTH, O. PATASHNIK, *Concrete mathematics: A foundation for computer science*, Amsterdam, Addison-Wesley Publishing Group, 1994.
- [2] J. H. CONWAY, R. K. GUY, *The book of numbers*, Copernikus, 1996.
- [3] J. C. LAGARIAS, *An elementary problem equivalent to the Reimann hypothesis*, Amer. Math. Monthly, 109 (2002), 534-543.
- [4] J. F. FLERON, *Gabriel's wedding cone*, College Mathematics Journal, 30 (1999), 35-38.